
C) Both A and B 

D) Neither A nor B - CORRECT ANSWER-C 

 

80) Botnets usually have multiple owners over time. - CORRECT ANSWER-TRUE 

 

81) One of the two characterizations of expert hackers is ________. 

A) automated attack tools 

B) dogged persistence 

C) Both A and B 

D) Neither A nor B - CORRECT ANSWER-B 

 

82) Sophisticated attacks often are difficult to identify amid the "noise" of many ________ attacks. 

A) distributed malware 

B) DoS attacks 

C) script kiddie 

D) virus - CORRECT ANSWER-C 

 

83) The dominant type of attacker today is the ________. 

A) wizard hacker 

B) IT or security employer 

C) national government 

D) career criminal - CORRECT ANSWER-D 

 

84) Compared to non-computer crime, computer crime is very small. - CORRECT ANSWER-

FALSE 

 

85) Prosecuting attackers in other countries is relatively straightforward under existing computer 

crime laws. - CORRECT ANSWER-FALSE 

 

86) Cybercriminals avoid black market forums. - CORRECT ANSWER-FALSE 
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B) carding 

C) Both A and B 

D) Neither A nor B - CORRECT ANSWER-B 

 

94) Carding is more serious than identity theft. - CORRECT ANSWER-FALSE 

 

95) Under current U.S. federal laws, if a company allows personal information to be stolen, it may be 

subject to government fines. - CORRECT ANSWER-TRUE 

 

96) When a company visits a website to collect public information about a competitor, this is a form 

of trade secret espionage. - CORRECT ANSWER-FALSE 

 

97) If a company wishes to prosecute people or companies that steal its trade secrets, it must take 

________ precautions to protect those trade secrets. 

A) at least some 

B) reasonable 

C) extensive 

D) no (Trade secret protection is automatic under the law.) - CORRECT ANSWER-B 

 

98) Trade secret theft can occur through interception, hacking, and other traditional cybercrimes. - 

CORRECT ANSWER-TRUE 

 

99) Which of the following are ways that trade secret espionage occur? 

A) Theft through interception 

B) By bribing an employee 

C) None of the above 

D) All of the above - CORRECT ANSWER-D 

 

100) ________ may engage in commercial espionage against a firm. 

A) Competitors 

B) National governments 
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